Year 2 - Maths Day 5 Subtraction Crossing 10				Friday 22.5.2020  
Hopefully you got better with yesterday’s learning. Now, have a go at the reasoning. Remember to use resources, scrap paper, etc to help you – do not expect to do it all in your head! The questions get harder as you go down so try your best and do the ones you can. Mr Hirani.
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9a. Matt and Pip are solving:

9b. Ted and Aisha are solving:

t ninety-six - thirty-nine = ’

eighty-three - fifty-seven = ’

o The answer is 57.
et Q
The answer is 67.
Pip

§o is correct? Explain how you know.

Q The answer is 25.
Ted The answer is 26.
isha

&o is correct? Explain how you know.
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8a. Using the digit cards below, create 3 | 8b. Using the digit cards below, create 3
different 2-digit subtraction that includes | different 2-digit subfraction that includes
an exchange. an exchange.
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Ta. Adam has calculated 85 - 28. His
calculation is below.

1b. Liz has calculated 73 - 47. Her
calculation is below.
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What mistake has he made?
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What mistake has she made?
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3a. Phil and Jess are solving 95 - 27. 3b. Amy and Tom are solving 53 - 36.
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&o is correct? Explain how you know. &o is comect? Explain how you know. "
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4a. Aaron has calculated 65 - 19. His
calculation is below.

4b. Jill has calculated 42 - 26 . Her
calculation is below.
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What mistake has he made?
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What mistake has she made?
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6a. Gary and Molly are solving 75 -

6b. Sara and Fred are solving 61 - 39.
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Q The answeris 47.

Gary

@o is correct? Explain how you know.

The answer is 50.

Molly

w The answer is 22.
sara The answer is 23.
fred

Te:
Who is correct? Explain how you know.





